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10.D 11.D 12.C

EFHET NEZEEITE
FEELID
B 1 (1) X4 m A
_m _28.8g _ 3
p = V_1.6cm3_18 g/cm” =18 x
10° kg/m’
(2) &R
V =M 13.51 ¢ =0.7 cm’

= py 193 g/em’
AN N 5 A
Vo=V-V,=1.6cm’-0.7 cm’ =
0.9 cm’

B2 (1) iy B AT R1R 42 A i A 38 PG
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s 120 km

v 100 km/h

1 = :12}1

(ﬂmvrﬁﬁﬁﬁiukah%

A HZATHE 0. 4 h, 85 i1 AR
s; =v;t; =90 km/h x0.4 h =36 km
(3) VRZEEATRI A 2

5,340 km

Uz_tz_ ih =85 km/h

(4)v= %ﬂ%ﬂ,ﬁtﬁﬂi%%i@ﬁ?

JEA TR A T sk g

s; =030, =20 m/s x32 s =640 m
R

L, =s; - Ly =640 m =540 m =100 m
(1) AT, & Bz B & )
G=mg=0.4kgx10 N/kg=4 N
()HEZATH, Y h =2 cm B, &8
BeHEIF K B AR V=20 em’ =20 x
107 m?® AR5 ] 5 A 7 5 v 2, b s
BRI BNNEE T

Fe =pyg gVy = 1. 0 x 10° kg/m’ x
10 N/kg x20 x10 °m’ =0.2 N

S ) R AR
F,=G-F.=4N-0.2N=3.8N
H)HE A, h =5 cm B, )8
PRt 0, Bl & B R = 22 5 em,
WIS} 453 A B A 52 31 7K 1Y He 5
p=pygh=1.0x10" kg/m’ x 10 N/kg
x5 x 107> m =500 Pa

(4) 4 Bty i T AR

g Va' 50 e’
T R T 5ecm

2 AR RS T AR
S=55, =5x10 em” =50 cm®

=10 ecm®
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Bi's

Ef-1 T |

I ) A5 T KON 4 R B R
Iy

AF=F; =p, gVy' =1.0x10° kg/m’
x10 N/kg x50 x10 °m’ =0.5 N

TR 2545 I R HG I A% 5

AF 0.5N
Ap=B_ 02N 459 p
P =S T50x10 " m? .

(1) ZEREEE v =54 km/h =15 m/s

. s 3600 m
ATk AR s E] ¢ = =15 m/s

(2)ZBERNRSET
G=mg =4 x10" kg x10 N/kg =4 x10* N
W A R AE KOV M T b B, X 7K P
W RS F =G =4 x10° N
XoF 7S b T 1 e 5

:FS” :4()).(410;21\1 =1x10° Pa
(3) B 250 A T3k st 52 2 A BH )
£=0.16=0.1 x4 x10* N =4000 N
FH AR 2 2 AT Bk I 22 5 | 0 4 T RE
1, W#E 5] ) F =f=4000 N

A% P = =2 o g -

t t

=240 s

4000 N x 15 m/s =6 x10* W

(1) TARET)
G =mg =70 kg x10 N/kg =700 N

i p =, T MR FE )

F=pS=2.0x10*Pax300 x10~* m’
=600 N

H AP R AR B R g, TN 52 3
(35S Fy = Fj. =600 N

H1 7 -1 25 4 B 1 A TS AH L Y
[P IWN L ESOEINE ]
F=F=G-F, =700 N-600 N=100 N
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B e T 2 Pl 4 A ) - 22
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10° kg/m® x200 x 12 x 10 ° m’ x 10 N/kg
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(1)1 ADFRAERTET, K0 2
100 °C, % 30 kg.20 °C 1y 7K hn#k 2 i
[, K B A

Qu =cm(t —t,) =4.2x10’ J/ (kg - °C) x

30 kg x (100 °C =20 °C) =1.008 x 107 J

(2) FE4RB 1.5 kg B0 O H

Qu =mprq=1.5kgx4.2 x10" J/kg

=6.3x10"]

(1) 582k 10 t BRIMFRIS A FE = Q
=mg=1x10" kg x5 x 10" J/kg =
5x10" ]

(2) B F A8 A, CHLAY R
400 m/skt, fir 52 I RH J1 R 4. 8 x



B3

B4

10* N, i At KL 3h 01 45 F R
1, e VL shAlL e i 2 2%
P=Fy=4.8 x10" N x400 m/s =
1.92 x10” W =1.92 x 10* kW
(3) #A%E 10 v PRI A% 4k S ML g
IRERE W =10 =40% x5 x 10" ]
=2x10"J
MRALAYEEE Ry 500 m/s B, T3z
(BH 1 7.5 x 10° N, BeAt GHLAY
N5 TTT, CHLER KA
S W_w_ 2x10")
F o f 7.5x10°N

10° m =2.7 x10° km

(1) R ER I Y)% P =12 kW

=12000 W

RERIVAET|

P 12000 W
T 20 m/s =600 N

(2) IHAEVR I AY T &
m=pV=0.7x10" kg/m’ x3 x10 ° m’
=2.1 kg

XYM TE AR B

Qy =mq=4.6x10" J/kg x2.1 kg =
9.66 x10 ]

(3) R4 A sh L A 2
W=Fs=600 Nx50x10°m=3x10"]
KNP

~2.7 %X

7

n= x100% =101 1009
O 9.66 x 107 J

~31%

IR P Qg = ¢ my (1 1) =
4.2 x10° J/(kg - C) x0.1 kg x (49
°C-10%C) =1.638 x10*J

Qi

Ci My

ﬂ‘j Qu& = Q;‘j)'( ,FJfU‘JﬁFV\]{J%E“E Ly =

Ef-1 T

e 1.638 x10* ]
0.39 x10* J/(kg - °C) x0.05 kg

+49 C =889 C

£Tx$ill 2
LA (1) KA B

m=pV, =1.0 x10° kg/m* x4 x10 > m* =
4 kg

FE 1 BRIER AR, K 55 100 °C
TR W i) e

Qu =cmAt =4.2 x10° J/(kg - C) x4 kg
x (100 °C =20 °C) =1.344 x10° J

(2) KIRR 58 R BRBE I B R e

Qy =Vg=0.1m’ x3.2x10” J/m’ =3.2 x
10°]

(3) RERAHIRCE
6
n:@XIOO% :MXIOO% —
QW 3.2x10° )
42 %

() AR T ASARIER TR T K Bk 5

100 °C., I 7K W i iy 4 1

Qu =cem(t—t,) =4.2x10° J/ (kg + °C) x
1.5 kgx (100 C —15 C) =5.355x10° ]
(2) BeTFix A /K BT I AR B RIR AR

V =365.384 m’ —365.339 m’ =0. 045 m’
RIR G MRBE I i A

Q4 =Vg=0.045 m’ x4.0 x10” J/m* =1.8
x10° ]

X — AR R R AR

5
0= 1009 =335 X106, -
0y 1.8 x10° ]
29.75%

iE: (1)0. 6 kg BYZMOREE R IRBE I (Y

Qu =msy g5 =0.6 kg x 1.4 x 10° J/kg =
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8.4x107 ]
(2) H A A 0K I A
Qu =Qy =8.4x10"]
KT v B IR
Ow  _ 8.4x10" ]
crmy  4.2x10° J/ (kg + °C) x500 kg
=40 C
(3) A HATHE S min Ay A HZh
W =Pt =140 x 10’ W x5 x60 s =4.2 x 10" J
ZEREIR A A AR

7
4 « 100% :4.2><107J
8.4x10" ]

At =

77 04
50%
(1) BB RIS, oK — KR
KFARE
E=2.8x10°]/(m* - h) x1.5 m* x8 h =
3.36 x107 ]
TR Y A
Qu =mE =60% x3.36 x 10" J =2. 016 x
107 ]
K FHBEHK A5 rhoK AR
V=80 L.=80 dm’ =0. 08 m’
T o
m=pV=1.0x10" kg/m’ x0.08 m’ =80 kg
KT v B I

Ow _ 2.016 x107 ] _
crmy 4.2x10°J/ (kg - °C) x80 kg
60 °C
(2) AR, Q, =E£=3.36 x10" ]

T E e R RIS L
Qw _ 3.36x10"J _
q 4.2x10" J/kg
i (1)10 m® e SR SE R T Y

pr ey

Qy=Vg=10 m’ x3.6 x 10" J/m’ =3. 6 x

x 100% =

At =

0.8 kg

10° ]

KA ) P

Qu =0, =3.6x10°]
Qu

cp(t=1,)

_ 3.6 x10° ]
4.2 x10° J/ (kg » C) x (100 C -20 °C)

~1071.4 kg

(2) AW B W E

Gy =my g=6x10"kgx10 N/kg=6 x10* N
INAEEIKAT 5] LA T Bk s Ak TP AR
A, 2B G| SR ) 2 — X, A
LHEZ BN )

ol L SN =
F=f=55Gy =55 %6 x10* N =3000 N

K i m =

ONSE LS R T I )
v=36 km/h =10 m/s
W3k 52 st () PR 58 2R 28 5| 3 A g 1) 28
P=Fy=3000 Nx10 m/s =3 x 10" W

(3) X Bt [a] N A SE ZE 42 5| 1 Fie i n 2
W=Pt'=3x10" W x100 x60 s =1. 8 x10° J
X B B[] PN A A8 42 R B HIL I AL 3

1.8 x10° J

n:éz(xloo%:wxmgjxlo()%:m%
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Bl1 (B (2)99 T (3)C (W]
b WEERLT (5) B b
KR o i 4
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e A N B KA B 05 S TR gk Sk
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JE = AR B a5, 7K AT Ak 2 34
(1) Zea sk Bt e
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) HHIEHXS,, R 5 R, IFHE, R
P - HC H, [ = % B AN 5 e m] RN 38 Ak
R, FANAS o ARSI 06 H o 1 P U
R ATl R, B
L=1-1,=0.6 A-0.4 A=0.2 A

mz_%m%Jg%mﬁ

U, U 8V
=1, =40 QO

R= 71,702
() HHE ST L 5 R, HHk, 45
GBI AT, S 2k /NET I B HL A
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i 2

713

0=I"R1=(0.3 A)*x20 O x60 s =
108 J

W (1) R IR X AT 22 0 L
Wit P = AT L o
Ui 2
ho=p =5
(2) 55 S.5, W04 L
R, HOF P S5 o S 0 5
B ATBBSIORAN O O, BRI
ORI, o 2 R T B U T
T LA 58 3 20, I B U =
Uy =6 V T

P 3w
[L—UL—6V—O.5A

$TiPU AR (EREENENED]E R
, _U_6V
'TR,T200Q

LI R 7R 4K

I=1+1,=0.5A+0.3 A=0.8 A
(3)4H% S, Wi, S &, 184k
#r R, IR P RER b v, KT v A
BARRH A% HHK, W B A8 B A A A
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